Stoichiometry Worksheet 1 (Mole-Mole Conversions)
1.  The combustion of the organic fuel, decane, is outlined in the chemical equation below.  You must balance the equation in order to answer the subsequent questions a-c.


____C10H22  +  ____O2 

  ____CO2  +  ____H2O


a. How many moles of CO2 are produced if 5.0 moles of C10H22 react with an 


excess of O2?


b. How many moles of O2 react with 0.75 moles of C10H22?


c. How many moles of O2 would be required to produce 4.0 moles of H2O?

2.  Use the following equation to solve the problems below:




3 SiO2  +  4 Al  

3 Si  +  2 Al2O3

a. If 6.0 moles of SiO2 react, how many moles of:



i. Al react?



ii. Si are produced?



iii. Al2O3 are produced?


b. If 2.5 moles of Al2O3 are produced, how many moles of:



i. Al react?



ii. SiO2 react?

3.  Given the following reaction:




3 H2  +  N2  

         2 NH3

How many moles of nitrogen gas are required to produce 4.18 moles of ammonia?

4.  Using the following unbalanced equation:



____FeS2  +  ____O2


      ____Fe2O3  +  ____SO2

a. If 12 moles of FeS2 react, how many moles of:



i. Fe2O3 are produced?


ii. O2 react?

b. How many moles of FeS2 are needed to produce 8.6 moles of SO2?  
